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Section : English Language (Basic Knowledge)

Q.1  Select the most appropriate synonym of the given word.

FURTIVE
Ans 1. Abortive

2. Secretive

3. Positive

X X & X

4. Adhesive

Question ID : 8161612457
Status : Answered
Chosen Option : 3

Q.2 Select the wrongly spelt word.
Ans x 1. Judiciary

x 2. Virtual

l 3. Ambasador

x 4. Appreciate

Question ID : 8161612453
Status : Answered
Chosen Option : 3

Q.3  Select the most appropriate meaning of the given idiom.

Actions speak louder than words
Ans x 1. What you do is your own business
2. What you can see may not be true

3. What you do reveals the real you

X € X

4. What you don’t say is what you are

Question ID : 8161612452
Status : Answered
Chosen Option : 2

Q.4 Select the most appropriate synonym of the given word.

AGILE



Ans ’
v 1. Nimble
x 2. Docile
x 3. Guile
x 4. Visible
Question ID : 8161612456
Status : Not Answered
Chosen Option : --
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given.
Select the most appropriate option for each blank.
The choices we make in life determine who we are. One’s life is (1) marked by the exemplary
choices one has made (2) one’s journey. The mega icon Ratan Tata has described his journey
(3) being a seven-year-old boy who played his (4) the freedom struggle to being moved
by the plight of a family on a two-wheeler which became the genesis of the world’s most (5) car
the Tata Nano.
SubQuestion No : 5
Q.5 Select the most appropriate option for blank number 1.
Ans J 1. often

x 2. never
x 3. rarely
x 4. seldom

Question ID : 8161612439
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given.
Select the most appropriate option for each blank.

The choices we make in life determine who we are. One’s life is (1) marked by the exemplary
choices one has made (2) one’s journey. The mega icon Ratan Tata has described his journey
(3) being a seven-year-old boy who played his (4) the freedom struggle to being moved
by the plight of a family on a two-wheeler which became the genesis of the world’s most (5) car
the Tata Nano.

SubQuestion No : 6

Q.6 Select the most appropriate option for blank number 2.

Ans x 1. upon

x 2. toward
( 3. along
x 4. into

Question ID : 8161612440
Status : Answered
Chosen Option : 2




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

The choices we make in life determine who we are. One’s life is (1) marked by the
exemplary choices one has made (2) one’s journey. The mega icon Ratan Tata has
described his journey (3) being a seven-year-old boy who played his (4) the
freedom struggle to being moved by the plight of a family on a two-wheeler which became the
genesis of the world’s most (5) car the Tata Nano.

SubQuestion No : 7

Q.7 Select the most appropriate option for blank number 3.

Ans X 1. for
< 2.though
o 3. from
X 4.above

Question ID : 8161612441
Status : Answered
Chosen Option : 3

Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

The choices we make in life determine who we are. One’s life is (1) marked by the
exemplary choices one has made (2) one’s journey. The mega icon Ratan Tata has
described his journey (3) being a seven-year-old boy who played his (4) the
freedom struggle to being moved by the plight of a family on a two-wheeler which became the
genesis of the world’s most (5) car the Tata Nano.

SubQuestion No : 8

Q.8 Select the most appropriate option for blank number 4.
Ans x 1. part with

« 2. partin
x 3. part from
x 4. part of

Question ID : 8161612442
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

The choices we make in life determine who we are. One’s life is (1) marked by the
exemplary choices one has made (2) one’s journey. The mega icon Ratan Tata has
described his journey (3) being a seven-year-old boy who played his (4) the
freedom struggle to being moved by the plight of a family on a two-wheeler which became the
genesis of the world’s most (5) car the Tata Nano.

SubQuestion No : 9

Q.9 Select the most appropriate option for blank number 5.
Ans x 1. economic

x 2. economize

, 3. economical

x 4. economist

Question ID : 8161612443
Status : Answered
Chosen Option : 1




Q.10 Given below are four jumbled sentences. Select the option that gives their correct order.

A.

Ans

X X X

In order to buy that bicycle, he plans to win some prize money by teaching an illiterateperson how to read and write.
He needs a bicycle to win the bicycle race which would help pay off his father’s debt.
The film ‘Douch’ is about a young Iranian village boy.

But the only illiterate person is a 90 year old woman who is ill-tempered and doesn’t wishto learn anything.

J 1. CBAD
2. DABC

3. ADBC

4. CABD

Question ID : 8161612447
Status : Answered
Chosen Option : 1

Q.11 In the given sentence identify the segment which contains the grammatical error.

My hotel in Goa had a wonderful view of the sea in the window.

Ans

, 1.in the window
2. had a wonderful view

3. My hotel in Goa

X X X

4. of the sea

Question ID : 8161612446
Status : Answered
Chosen Option : 1

Q.12 Select the most appropriate word to fill in the blank in the given sentence.

The teacher the student for cheating.

Ans

X 1. praised
o 2. rebuked
X 3. invoked
X 4. refused

Question ID : 8161612459
Status : Answered
Chosen Option : 2

Q.13 Select the correct indirect form of the given sentence.

Sitab asked his mother, “Has it been snowing all night?”

Ans

x 1. Sitab asked his mother if it has snowed all night.
2. Sitab asked his mother if it was snowing all night.

3. Sitab asked his mother if it is snowing all night.

L XX

4. Sitab asked his mother if it had been snowing all night.

Question ID : 8161612434
Status : Answered
Chosen Option : 4




Q.14 Select the correct passive form of the given sentence.

The Delhi Police has shot an educational video on Traffic Rules for school students.

Ans J 1. An educational video on Traffic Rules for school students has been shot by the Delhi
Police.

x 2. An educational video on Traffic Rules for school students is being shot by the Delhi
Police.

x 3. An educational video on Traffic Rules for school students had been shot by the Delhi
Police.

x 4. An educational video on Traffic Rules for school students was being shot by the
Delhi Police.

Question ID : 8161612444
Status : Answered
Chosen Option : 1

Q.15 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No improvement’.

India has lost a veteran actor with thdeceased of Shriram Lagoo.

Ans x 1. No improvement

J 2. demise

x 3. bereavement

x 4. expired

Question ID : 8161612448
Status : Answered
Chosen Option : 3

Q.16 Select the most appropriate word to fill in the blank in the given sentence.

Those earning less than Rs.10,000 are from paying income tax.

Ans x 1. adjusted

x 2. accepted

x 3. collected

J 4. exempted

Question ID : 8161612458
Status : Answered
Chosen Option : 4

Q.17 Select the most appropriate meaning of the given idiom.

A piece of cake

Ans x 1. Something amusing
x 2. Something serious
x 3. Something difficult

J 4. Something easy

Question ID : 8161612451
Status : Answered




Q.18 In the given sentence identify the segment which contains the grammatical error.

Freedom of expression meaning the right to express one’s own convictions and beliefs.
Ans x 1. Freedom of expression
2. to express one’s own

3. meaning the right

X § X

4. convictions and beliefs

Question ID : 8161612445
Status : Not Answered
Chosen Option : --

Q.19 Given below are four jumbled sentences. Select the option that gives their correct order.
A. Behind them come camels carrying drums and small guns.
B. The Emperor is escorted by two decorated elephants who head the procession.
C. Atthe end come the platoons of soldiers in rows of two.

D. First of all, there is a volley of guns announcing Emperor Bahadur Shah’s entry into themosque.

Ans J 1. DBAC

2. BCDA

3. DCBA

X X X

4. ABDC

Question ID : 8161612435
Status : Answered
Chosen Option : 1

Q.20 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No improvement’.

The rising prices of essential food items have placed ameighty burden on the poor.

x 1. lightest
x 2. trivial

X 3. No improvement

J 4. enormous

Question ID : 8161612436
Status : Answered
Chosen Option : 4

Ans

Q.21 Select the wrongly spelt word.
Ans x 1. Resettlement

x 2. Announcement
x 3. Undergarment
v

4. Embarassment

Question ID : 8161612454
Status : Answered
Chosen Option : 4




Q.22 Select the word which means the same as the group of words given.
Having no moral principles

Ans x 1. Unaware

2. Mischievous

3. Ethical

L XX

4. Unscrupulous

Question ID : 8161612455
Status : Answered
Chosen Option : 3

Q.23 Select the most appropriate ANTONYM of the given word.
ENIGMA
Ans 1. Mystery

2. Charade

3. Make-believe

<X X X

4. Clarity

Question ID : 8161612450
Status : Answered
Chosen Option : 1

Using right and left hand equally well
x 1. Left-handed

J 2. Ambidextrous

x 3. Inexpert
X 4. Unskilled

Ans

Q.24 Select the word which means the same as the group of words given.

Question ID : 8161612437
Status : Answered
Chosen Option : 2

Q.25 Select the most appropriate ANTONYM of the given word.
RESERVED
Ans 1. Forgiving

2. Friendly

3. Reticent

X X € X

4. Cowardly

Section : General Intelligence

Question ID : 8161612449
Status : Answered

Chosen Option : 3




! Rrefafle At @ o W

7, 16, 34, 70, |
Ans 1142, 286

X 2144, 286

X 3142, 294

X 4 144, 292

Question ID : 8161612465
Status : Answered
Chosen Option : 1

Q2 X, AF ALY, BHE MR BF R AR Zagd &1 B, 2 o I R & X T F0 T
&

Ans Xl' QZ’,T
X2 Ryar
X3 T

v oy

Question ID : 8161612473
Status : Answered
Chosen Option : 4

Q.3 iy + Fr ot ¥ Renfea, = @ 3y F FAsr oA, ¢ o Y merm aw, 3K # ot F
o &, & el @iee & A e w3
{(B32%x24) - (4+3)}+3—-2)]+ 3

Ans of 112
X210
X336
X428

Question ID : 8161612461
Status : Answered
Chosen Option : 1




Q.4 fow o Feat iRk st & e & 981 7® A ge B Fe F & A AwEY T ¢, o & @
AT & & A1 a2 ¥ e gdia @ &, Ro o & Re 1w st & @ siqand Ty st
& AT T T IHFAOT FLAVFS ¢ |

YT
1. @l i, FEeR E

2. F$ FAR, AT AT ¢ |
o

I. Tl e, A

II. 1S off Ara, A 7 &

M 1 el TS 11 3EROT AT B
X2 o & Y | A | RO FAT B
X > e sy | HFEIoT FT g
Ko s | 311 St 1T R 2

Question ID : 8161612477
Status : Answered
Chosen Option : 1

Q.5 3g fawed &1 T Y, S AW WERN-THE ¥ I THR TS § O TR qI HER-TAE T HER-
g ¥ wafa ¢

LAME : OXPB :: TREE : ?

Ans - X 1 QUBH
X 2 UMFA
v > WOHB
X 4 VNGB

Question ID : 8161612470
Status : Answered
Chosen Option : 3

Q.6 I FEa-gew R v §, Gwd & 99 G T Tl veR dee § 6 v s ¥ 3w e v
TIA F TIT FL

Ans X 1. 7-50
v 2 6-35
X 3 4-17
X 4 5-26

Question ID : 8161612466
Status : Answered
Chosen Option : 2




3 3R TS H T HY, 5 & 7% 3eR-4Ter & Nad W F a0 F 0 FHF 77 § WA |
Erecil cul i nail

Q.7 _ _bc _daabc _ _a _ _ ccd

e #C  accdaac

&< acccdeb,
v aaccdab .
X cacdcab,

Question ID : 8161612472
Status : Answered

Chosen Option : 3

37 fameT & 909 F S WY 9E ¥ 3 IFR FEOT & T THFR @ 9 T I & Fa O g
Q8 EASY : IETZ :: LAKE :

e X PELI,
v MELI,
X MBLI,
X PBKL,

Question ID : 8161612476
Status : Answered
Chosen Option : 1

Q9 Ix sweR-wg T av § e ¥ O Bl @ Rl 9eR @ed € 3R U 3R §1 39 e 3eR-
g F AT

X L WVUT
< 2 MLKJ

X 3 TSRQ
v 4 PONL

Ans

Question ID : 8161612475
Status : Answered
Chosen Option : 4

el ffRea geamsr 7, 'LOCKER' &1 'OLXPVI' foram Smer &1 3% gesmst # 'GLOBAL' #r @ forar

Q.10 STeeM?

ae < HUYTRE,
v TOLYZO,
X JOREDO,
X UPMZAP,

Question ID : 8161612468
Status : Answered
Chosen Option : 2




QUL 5 femrew @1 wTw T # & S el siatE ¥ (G B gl Y

O

Ans

B
&2
@
@

Question ID : 8161612481

Status : Answered

Chosen Option : 3

3 H-IA H TAST FY, S eAad T H FeFaTas e (?) F FF W g T ¢
Q12 AZ CX, EV, ? IR

w X FT,
v GT,
X HT,
X Gs,

Question ID : 8161612474

Status : Answered

Chosen Option : 2




38 fawe & 9uw Y, owd FEmet § af gev §, S "ew R v wEeaw & dEmet § 7
Q.13 . 6 61)

v (3, 4, 25)
X 2 (3, 8, 24)
X2 (9, 4, 26)
X4 (5, 2, 49)

Ans

Question ID : 8161612463
Status : Answered
Chosen Option : 1

Rram # qwR fe@rd g aree & @, "gg AY Far ¥ sHeita 3 Fr gl §1" R avw ¥ F TR

Q14 ¥
X
X 2 sged
X: mi
v

Ans

Question ID : 8161612471
Status : Answered
Chosen Option : 4

P Ru v et # afdw @R e wa & wEya w3
1. e

<1101

9T

BIAr

s

. A

ans X 12, 4,
X25,8,
X35, 6,
v 5, 6,

® o B W N

Rl S \S B

W = W W

N N RN

- D - D

Question ID : 8161612467
Status : Answered
Chosen Option : 4




38 fawen & 99w Y, Twd FEmet § o dev §, S wew R v wEeaw & et § 7
Q.16 (9,217, 8)

v (4, 37, 3)
X 2 (5, 625, 6)
X (3, 49, 2)
X 4 (2, 76, 5)

Ans

Question ID : 8161612464
Status : Not Answered
Chosen Option : --

T & ur o Rufaet gufelh o ¥ 3@ g w1 aua Y S §Edr 5 g e Gelw & Auda

Ferh T g
Ans x 4 1.
v 3,
X 6,
X 1,

Question ID : 8161612478
Status : Answered
Chosen Option : 2

Q.18 11 Ryemfiut arel v Fam & 6 F5F ¥ FeT F AfA T F AU TRoF T T wF e @
T AT §| R ST & FeT F AN @ T AT FT 82

A K11

X2.i
11
7
11
5
11

X 3.

"4.

Question ID : 8161612460
Status : Answered
Chosen Option : 4




Q.19 37 RweT Ml F 909 R, A AT g § geaare Red (?) F T W T G 8

@ || ©

@y

FIGURE 1 FIGURE 2

Ans

FIGURE 3

Question ID : 8161612479
Status : Answered
Chosen Option : 4

Q.20 gy AR FesmsT #, NIB &1 112 3R COB #r 122 fr@n Sar §1 38 Fesmar & JET & #41 foran

JTTET?

ans X 1119
V2 92
X3 81
X+ 102

Question ID : 8161612469
Status : Not Answered
Chosen Option : --

Q21 =3 famey &1 w0= FY, S Tt & o wav g, o ey RU v dEw-gie & gt § §

34 : 210

Ans X 147 : 282
X2 38 :236
v 3 66 : 402
X 4 54 : 100

Question ID : 8161612462
Status : Answered
Chosen Option : 2




& ¢ gy & e a9t 2

Q.22

e X 29,
X 33,
X 34,

v 32,

Question ID : 8161612480
Status : Answered

Chosen Option : 4

Q23 37 37 a@ F TS FT, A AR R 0 9t F S gew Fr gafeaw S @ @i g

Ans

Question ID : 8161612484
Status : Answered
Chosen Option : 4




Q.24

FES F TH THS F A F FA AR AN AT FEA F Fe A Tratai@d smplaat J g
T ¥ FES F @ W aE FAT @S

[ } |
— "‘<‘T\ — —é-—lr———- — »———L———
I 1
I ST

o [& 5

Question ID : 8161612482
Status : Answered
Chosen Option : 1

Q.25

& 7% 3pia H TE 90T ST F TIF FL

Ans

NNV

=
o
)
O
=




Section : Quantitative Aptitude(Basic Arithmetic Skill)

Question ID : 8161612483
Status : Answered
Chosen Option : 2




Q1 Ruaw B #, gea &7 &% L § 37 ML, LN R &7 &1 7fy /s MLN &7 850 36 &, o 300 &7
& el fahaaT gem?

Ans X 1. 6871

Question ID : 8161612495
Status : Answered
Chosen Option : 4

Q@ gfra-b=14 3R a%—b*=88 ¥ ara?—b? F HF FAT T
e X 1746

X 2 66

X3 96

v 86

Question ID : 8161612500
Status : Answered
Chosen Option : 4

Q3 Xxvz vw e &1 A AT ZL AR YM ThEE # Rig G W sfeoRa e § A
(AGLM &7 819%eT: AXYZ T &19%el) T AT Al HITaT|

ans X11:10

v21:12
X31:14
Xa41:11

Question ID : 8161612497
Status : Answered
Chosen Option : 2




QA fF 7, Gt % T WA H 2 A Thema F o R F ggde F geler g1 qE F HUR W, 37

FFH H g FY, T FaT X F T X|| 7F A gur v g

Percentage of Aggregate marks of student in Class X and XII

79 82

Sunita  Veena  Meena  Shivani Alka Madhu

wX
i

Ans x 1. m

Question ID : 8161612509
Status : Answered
Chosen Option : 3

Q5 21+ 225 + [63 — {7.5 X 8 + (13-2.5 X 5)}] F AT =TI

Ans X129
X228
X3 3.1
v+ 30

Question ID : 8161612502
Status : Answered
Chosen Option : 4

Q.6 o e Bemdr a1 20 At Fslma TR 35 & TR wmd 12 AF Frfma =R 45 &, A sifaw 8

= F7 T =R AT #ifET
Ans X118

v 20
X316
X422

Question ID : 8161612488
Status : Answered
Chosen Option : 2




Q.7 fer e 7% v U F T @T F AR qe F TES BT §1 A F IS HE AR Rw e
T F 3o Al

20 175

10

Percent spent
w 5 &
Taxes
]+

Development

Infrastructure
Transport
Advertisement
Research and
Salary
Intereston loan

“HUTT 9X T 1T ST (Interest on loan)’ F =T, ‘GREga (Transport) T R ¥ fraar gfaea
w32

Ans X1 2%
X2 3%
v 5%
X o 4%

Question ID : 8161612506
Status : Answered
Chosen Option : 2

Q.8  far T ME TF FIN F FoI AT F AAUT deT B FRT FAT §1 AE F 3eTAT FY AR e a0
99 FT 3caR AT

20

Percent spent
oo
w5 0
Taxes 5
[ ]
Salary &

Infrastructure
Transport
Advertisement
Researchand
Development
Intereston loan

‘IR & (Infrastructure)’ I ‘9REga (Transport) T gT F [T F, ‘FU (Taxes) T HON T
f&w a1C =i (Interest on Loans) W §T ol &@d # FAT 3T &

Ans X115 : 13
X214 :13
V317 :13
X416 : 13

Question ID : 8161612508
Status : Answered
Chosen Option : 3

Q9 el SR Here Fr oar$ v s & Few 5 : 2 F I g1 AR 37 FAerwr F IRAT 238 m
ar dAerer Fr TS T Hifew

Ans X 184 m
X282m
X383 m
v+ 85 m

Question ID : 8161612487
Status : Answered
Chosen Option : 4




we fashaT FIS aT5H 2500 F R W 20% N G 3T §| IF ASH F b Hed W AT F 3w
Q.10 30% Fr gifer geir?

ams ¥ 321875,

X 321855,
X 321885,
X 321865,

Question ID : 8161612491
Status : Answered

Chosen Option : 1

Q.11 Ry ra % T A F Fo SUT F IS T F TEIA BT §1 A FHATT FY AR Rw a0
9 1 3ol Al

20 175

10

Percent spent
o w 5 L
Taxes
e
I
iy

Infrastructure
Transport
Advertisement
Researchand
Development
Salary

Intereston loan

AT FT Fol 57, ‘drer T f@ra (Research and Development) @2 ‘9@ (Salary) ge =g F
fraar T 22

Ans X 1. 8.75
v 2 575
X3 775
X 4 6.75

Question ID : 8161612507
Status : Answered
Chosen Option : 2

v T a+b =11 3R ab=15 &, & o +5* F AA T
Ans x 931

v 91,

X 92,

X 90,

Question ID : 8161612498
Status : Answered
Chosen Option : 2




Q.13 wF uEm 40 km/h & =1 & 2T @ &1 A 97 30 km/h F TE F 3, T 3HE T F ey s
& aan g2

Ans  of 1. 25%
<2 30%
X3 15%
X 4 20%

Question ID : 8161612490
Status : Answered
Chosen Option : 1

Q.14 fyw v R &, g7 &7 F7 O ¥ $WH & M AB 3R CD U g8t &1 gead & $ieX Rig P W
sfa=afa #war §1 o AB = 15 cm, PB = 9 cm, CP = 3 cm &, @ PD #T @& #1a $ifaw)
,//A‘\\\
4
t\\\ 0/
.
\\\/ x’; ‘

N SO

Ans 1. 20 ¢m \
X222 cm PN
V'3 18 cm (

X< 416 cm

Question ID : 8161612494
Status : Answered
Chosen Option : 3

Q.15 Higer e FEgT F d=S F AT 3T W 20% A
35% 3fE 7 T AT §1 FHH AW TAUT e

Ans - X1 10%
X2 7%

-
V'3 8%
X4 9% A

Question ID : 8161612489
Status : Answered
Chosen Option : 3

— —
Q.16 23,600 Hr g3 WA, HIHAT vF Jar # 7 FR ardr 75 o @A 3R wAer F Feat @& v
HuE 1.5 : 2 F FA H far F fwd Foamew 2 0 25 & f& # fww am fifew)

Ans X 1. 31,300
X 2 %1,200
X3 71,400
v 4 31,500

Question ID : 8161612492
Status : Answered
Chosen Option : 4




tan 60°—tan 15°

tan 15° Ll : I

Q.17 1+tan 60°

1

S

v
X 3.

Ans

le.

ol Bl

Question ID : 8161612503
Status : Answered
Chosen Option : 2

a1 T 3sec’ x—4 =0 & @ x (0 < x < 90°) H AW T
Ans x 15° 1.

X 450,
v 300,
X 60,

Question ID : 8161612505
Status : Answered
Chosen Option :3

Q19 e zafdd & el T A s, 18 km, 20 km 3R 27 km # X | 3@ ¥ gRAT FHAX: 6 kmh,
5 km/h &2 9 kmth it = & @@ Fr Tl A & el 3w AT = e o6

Ans X175 km/h
X 2 55 km/h
X 3 45 km/h
v 4 6.5 km/h

Question ID : 8161612486
Status : Answered
Chosen Option : 4

T IR S WO S, 1220 AT & O e At see & aw @ Sre
vigayg
X27ag
X35 3§
X6 ag

Q.20

Ans

Question ID : 8161612493
Status : Answered
Chosen Option : 1




PQR v tar @xafaarg e @ 5 PQ = QR = 10 cm 3R APQR = 00° ) ST PR R g Q &
Q.u!ﬁ%mﬁaﬁdﬂaﬁrdméml

Xt 42 em
X272 em
X362 em
v s em

Ans

Question ID : 8161612496
Status : Answered
Chosen Option : 4

777 +77) *r 78 ¥ Fafog axa W AvF hgar s=eEm?

Q.22

e X 75,
x 77,
X 74,

v 76,

Question ID : 8161612501
Status : Answered
Chosen Option : 4

Q23 gfE 4cos6-3sin®6+2=0 &, AT tand T AT FATST (&7 0 < 6 < 90°)]
Ans x 1. ﬁ

X 21

,’ 3. ‘/6

1
X“-E

Question ID : 8161612504
Status : Not Answered
Chosen Option : --

gfafes 8 9 F F AT 30 TW TH denE F 16 A H @e TR g1 32 T & U A H
94 20 T # Wiew & fw sfafes frawr 5 18 Fwam ghm?

v gfafeT 6 B
X2 gfafes 8 oe
X3 gfafesm 5 oe
X o gfafes 7 o€

Q

Ans

Question ID : 8161612485
Status : Answered
Chosen Option : 1




Q25 gfrx+y+2z=10 v=y'+=75 3T xyz = 165 %, @ ' +3 +2" —xv— 17— =x F AT I
Ans J 1.
X2
X 3
X a4

» = 0 W

Question ID : 8161612499
Status : Answered
Chosen Option : 1

Section : General Awareness
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